SEIER

1. logzx =—2
xX—2 1
2. log > =log—

3. logx+log(x—3)=1
4. loggx +logg(x>—7)=1
1

5. logg(x? —3x—2) = S

6. logs(2x — 3) +logz(3x + 2) =logz(2x — 1)
7. %(logx —log5) =log?2 —%log(9 —X)
8. log(x +6) —%log(Zx —3) =2—log25
9. log,x =loggx +1

10, 3logx — olog3

11. 2(logz x)? +logzx —1 =0

12. 6log?x + logx®> —3 =10

13.log, 25 —log,sx = 0

14. 2log, 10 —logx + 1 =0

15. 2log x =log 32 +log 2

16. (log, x)% =log,x +6

17. 4logx — plogx+1

18.log, V2x2 —5x + 6 =1

19. log,[logz(logs x)] = 0
20.log,(x +4) + 1 =log,(x + 1)

The Classroom Learning ACademy



r
A=p(1+-—)t

100
A 1
I = (1-—
e = 5 (= T
A
=00 —
n ’T%

B, £€

1.

2.

E &A% 2 RM 50,000, £FZKE 6%, IUEFITE, 3k 15 £FAAFIF
EFHAEZ RM80, 000, FFIZEZ 7.5%, ‘TBFFITE—RK, UEFTE, K5F
BERERIENT 207

DA 4E RM100, 000, FHERE 65% FHELE—K, MWEFITE. HED
FEZ/E, AFFA LSBT RM150, 0007

EMEFER 8%, BEHEE X, UEFIHE, 3FENHFERIENT RV
22,075.52, KAEAZE

. RAGFEYFHRMI000, HEFRZ 3%, SFITE—K, MUEMITE, k20

FIERIARF)
=g 8 BKBUEFL RM650, ZFFRE 33% SAMATE—X. MUEF
H, KZBERE—FEEREEINEREREMERNFEEE

F AL RM6000 8 5 —IN &/l ™ fn, %7~ mRIDREERK L FEF AN RM1500,
HEHNRTERNENERE 3%, DUEIHE, S§FEE—XK HRXIRAZS
WE?

EFMENZ RM2000, FHERE 6%, BEXN—K, BELFEXNZIE, PWE
4 &8t RM20, 0007

HARILE —ERTUR L — MG ELAM RM5000 HEEE S, &EFRRFRE
5%, BFEEE R, BESFRES DR ERIZESKEBE]

10. 5K A% RM40, 000 FAERAE), FFHIEK 8% BFFLEE X MUEFIE, K

=FRAFF

The Classroom Learning ACademy



1L.EMEFRZ 4%, FE2 RM3500, BFf—RK, ELXM 15 F, KIAE,
7, KKSEFEHNE

12.%5 RM80, 000 FALREAT), FFEZ 8%, E=1MBEE—X, MUEFITE, X
5 TR AT F

13.BHASR RMIS, 000, FHER 6% SFETE—K MEAHE, DEIKS
D, AFFA =S RM300, 0007

14 EMEERE RM5000, FHRE 5%, BEM—RK, ELXM 25 F, KIAE,
7, KKSEFEHNE

1S EAB—ERMBEANRT, EHRESS5% USE—PNEFITE, 4 FENGER
BT RM1432.95, SKIXEFRINHIEE

16.5TL1E2 RM24, 92444, FFRZ 5%, KELN 20 FNES

17 £ R FIRBIMAOENE RM2500, TT—RUABERDEIAE. SEEEHEN
B%A RVL10, HERFIE, EMEFE 4%, SIAXMNFIANEFITE, £EA
FATILE, MRS R

The Classroom Learning ACademy



